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4323
M.A. (Previous) Examination, 2017

ECONOMICS
Paper-III
(Quantitative Methods)

Time : Three Hours
Maximum Marks : 100

PART - A (Evug-ar) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
T T A ¥ | e I I = 4 e T 8
il WYl & i wE F
PART - B (@uE-®) [Marks : 50

Answer five questions (250 words cach).
Selecting ore from each unit. All questions carry equal marks.

TEAF TR W Teh-Ush 99 4 g0, o Ui J99 $Hf)
TR WA 1 I 250 M=) D o1 T 7
Tt geAl F 37 T ¥
PART - C (@us-m) [Marks : 30

Answer any fwo questions (300 words each).
All questions carry equal marks.
% T 9T T | WouE U S 300 = § sieE 9 Al
it 9ol F FHE TAE F
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PART - A
(@vs-ar)
UNIT - I
(3TE-1)
1. (i) Differentiate if :
CCIECT] ﬁﬁm g
y=5x"+9x°
(ii)  Explain the concept of BFS in LPP,
Tl Wt % g T e 9wy Fii
UNIT - 11
(s®TE-11)
(iii ) Explain the meaning of integration.
HATHEH & 3T TR

(iv) Solve the determinant,

IV &l & &4 |

!4 2!
3 4

UNIT - I11

(FHRTE-111)
(v) If ("gfe)

r=.08 ¢, =25findbxy="
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(vi) Write 2 regressive equations.

2 g e fafan
UNIT - IV
(3FT3-1V)
(vii) PAUB)Y=?
4 16 12
P(AﬂB)-.% P(A)-% P(B)—%

( viii ) Give the limits of simple correlation coefficient ?
TR HE Wy Ft Tl 79 872
UNIT -V
(3#TE-V)
(ix) What is type I & type Il error in hypothesis testing ?
TiEea gl ¥ wew 9 fahy yhR % favm = §2
(x) What do you understand by hypothesis testing ?
UiERea T T § 39 Fa1 9 67
PART - B
(Tue-a)
INIT -1
(ghTE-1)
Differentiate :

WW
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3. Solve the following LPP problem & plot on graph.
7= LPP %1 &@ =19 wd o W weltfs wife
Maximise ox, + 8x,

( HieEes wifsT)

subject to constraints
30x, +20x, <300
5x, +10x, <110

X, X, 20
UNIT - II

(gHT3-11)

4. Integrate :

HHHAT HITSTT :
@ f(8x+7x) ax
(i) Jx: logx dx
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6.

2 4} 37 I 9 9
A: B: C:
-1 5|7 o 4 0 1 1
Prove fag Fifsy -
(A+BY=A"+ B’
(AT siAe
UNIT - I

(3ehT3-111)
The height of fathers & their respective sons is as given below:
Height of fathers 65 66 67 67 68 69 71 73
(fora =t =g
(in inches)
Height of sons 67 68 64 68 72 70 69 70
(T3 3 395)
(in inches)
Find 2 regression equations. If father's height in 67.5" find the
probable height of the son.
< TR AR A i | At T # SEE 675" & A
97 o1 Herfea S g it
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7.

10.

Find coefficient of correlation b/w® X & Y series using rank

method :
XduY 297 § FE-d=y onisk Wi HifEy
Xseries 50 S0 55 60 65 65 65 60 60 60
(4ft)
Yseries 11 13 14 16 16 15 15 14 13 13
(4oft)
UNIT - IV
(3&E-1V)
Write a note on Baye's theorem.
999 W W T feoei fafau
Write definition, salient features & importance of distribution.
WA S i IR, e e vE mew fafaa
UNIT -V

(3FTE-V)

Define stratified random sampling. Discuss it's merits &

demerits.
WA 37 frex &1 oftmfas wifaw ) 39% o S =1 fadem
=Hifea |
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11.

12.

Test with the help of ¥* test if smoking & lung cancer are
independent.
ﬁaﬁuﬂwﬁmﬁﬁmﬁammwmmﬁm
g1

Lung Cancer ( Wgl &1 $47)
Affected Non-affected
(wsTIfEa) ( Frgfaa)
Smokers 75 105
Non-smokers 25 95
PART - C
(@) '3

If demand function for a commodity is P = 10 - 3Q & avg.
cost function AC = Q. Then find & price, total revenue, total
cost & total profit for monopoly firm.

fll =g 1 =1 FEE P = 10 - 3Q ¥, Si9a o B AC =
Q%‘a‘rwﬁﬂm%mwwm,%waﬂ?%
SICRECT G
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14. Given :

15.

Tmgame

Mean (HI%)

Std. Deviation (9319 fa=ge)

X y
18 100
14 20

Two different types of drugs A & B were tried on certain

patients for increasing weight 5 persons were given drug A

& 7 persons were given drug B. The increase in eight in pound

in given below :

& v yor =1 Tadd @' 9 9 = W 5 wis w5 AW
W%WWWISWE?TW‘H'?{T@IE%E%

70 9r Fefafeg € .
Drugs A & 12 13
'c'?ﬂf%»ﬂ

Drugs B : 18 § 12
=T

[P

Do the drugs difference significantly with regard to their

effect in increasing weight (t, ... = 2.23)

) 5] AL % SR E wEE Y A § e s )

=202
(L5 = 202

()

)
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